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This paper contains three sections SECTION-A,
SECTION-B and SECTION_C. SECTION-A contains
10 questions, each question carries 1 mark. In
SECTION-B out of 10 questions only 5 questions are

compulsory, each question carries 5 marks. In
SECTION-C out of ¢ questions only five questions

are compulsory each carries 8 marks.
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_SECTION—A
Answer the 'foll(;wing' queStioﬁg . 41~x10=1,‘0
1 Match the followmg | Co T
List-B

Lnst-—A o
(i) Type 0 (A) Regulai- Grammar .
i) Type 1 ® CFG |
,(m) Type 2 ~(C) C°nte"t-3ens1t,vc ‘,
((l") Type 3 ) Turmg Machme

-
- (a) 1-B ii-A, iii-D, iv-C

v(b) iD, ii-A, iii-A, .1v-C. .

'(c) 1-C u-A mB 1v-D ,

‘ @
. What is the Regular Expression Matchmg one ‘or

1-D ji-C, iii- B 1v-A

More spemﬁc Characters ? o
@ * B
© e @&
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Which of the following strings is not generatedA
by the foIIOng grammar ? '

S — SaSbS§|e
@ agbb (b) abab
() aababb (d) asabbb
Regular expressmn (x+y)+(x+y) denotes the set
(@ {xy, xy} ~ (b) {mxy,y&yy}
Oy . @ mRo

. leen grammar S - (L)Ia L - L SIS WhICh

of the mput l'ecogmsed by the grammar Select
one : | |

7

@ (@ a), a) ®) @ 8
©) ((a a, a), ) | (&) All of the above

+* The grammar E _, g+E|E*E|a

() Ambiguoys

~ (b) Unambigyoys

(c) Depends op the given sentence

(d) None of the apove
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The main difference between DFA and NDFA -

(a) In DFA from any given state there cannot be
any alphabet leading to two different states

: (b) In NDFA empty transition may be preserit
() In'NDFA from any given state there cannot

10.

be any alphabet leading to two different states
(d) In DFA empty transition may be present

The set {a, aa, aaaa, aaaaaa, ......} represents the
regular expression

(a) a* . o (b) (aé)*

(c) aa* . (d) None of the above -

A Mealy machine accept a string w of length n.
The length of the output string is

(a) n+1‘ (b) n-1
(c) n? - (@ n

The output of a Moore machine depends on

(a). the present _staté only
®) the present ‘state and the input symbol
(c) the input symbol only |

(d) None of these
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1. " Construct the following DFA :
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SECTION-B -

Answer any five of the following questions :

- 5%x5=25

() Construct a DFA for the set of string over
{a, b, ¢} having bca as a substring.

(b) Construct a DFA for the set of string {a, b}
ends in the substring ba.

Construct the following Régular Expression :

(8) The set of all string over {a, b} containing
at most 2a’s. ' '

~ (b) {000, 0001, 00011, 000111, wereeere }.

Construct a finjte automation for the regular
language (ab-+c¥*)*p,

Define Mealy and Moore machine.

Construct a regylar grammar G generating the
regular set represented by p=a*(atb)(atd)*.

If G is the grammar S—»SbS/a, show that G is
ambiguous. ' : A

If G be the grammar S—»0B/1A, A—>0/0S/1AA,

‘B—>1/1S/0BB. For the string 00110101, find

leftmost derivation .
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s' Discuss the model of PDA with D. . - . |. . 2. IfLis regular then LT is also regular

the followin 1dent1
9. Prove g ties .of regular . 3. Define Chomsky normal form (CNF). Find a

ression :
i * grammar in CNF, equlvalent to
(1) (PQ)*P P(QP) '

4. COIlStl'llCt a PDA acceptlng the language

10. Define Chomsky Classxﬁcauon of languages with
uag . L={a"b"c"/m, n21} by null store. Construct the

~ example. .
o corresponding Context-free grammal‘ accepting
. SECTION~C the same set . | :
* Answer any ﬁve of the followmg questions : 5. What. is pllmplng lémma ? Show that the set
- 8x5=40 L={a"/i21} is not regular.
1. Construct a minimum state automaton' equivalent S '
to the ﬁmw automata ﬁ‘om the given transition 6. What are unit apq ‘null production ? Find the
table : . S reduced grammar equivalent to the grammar
| State/Z' 0 |1 e ’ : S—)aAa, A—>bBB B—)ab C——)aB
% | 4 19
q, 9% 9% |
qz’. 9, q,
qz . . q2 q6 .
q, | 9, |95
qs 9% |9%
9% | 9% |9
6 | 9% |49
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